
 Times Table Challenge 
Year 6 Bronze I 

 

Name_________________   Date______________ 
You have 10 minutes to solve these problems. 

All tables 12 x 12 

12 x 12 = 88÷ 8 = 120÷ 12 = 4 x 5 = 

3 x 9 =  22÷ 2 = 8 x 7 = 3 x 8 = 

9 x 8 = 2 x 12 = 8 x 5 = 56÷ 8 = 
2 x 2 = 50÷ 5 = 45÷ 5 = 4 x 11 = 

4 x 8 = 6 x 8 = 45÷ 9 = 60÷ 5 = 
6 x 6 = 7 x 7 = 49÷ 7 = 9 x 9 = 

60÷ 10 = 6 x 5 = 8 x 8 = 27÷ 3 = 
4 x 9 =  4 x8  = 5 x 7 = 24  ÷ 3 = 
8 x 7 = 8 x 3 = 8 x 5 = 8 x 12 = 

3 x 2 = 2 x 4 = 9 x 4 = 2 x 11 = 

24÷ 8 = 8 x 4 = 3 x 9 = 27÷ 9 = 
56÷ 8 = 6 x 12 = 20÷ 4 = 30÷ 3 = 
3 x 3 = 12÷ 4 = 35÷ 7 = 3 x 6 = 

8 x 8 = 2 x 4 = 4 x 5 = 4 x 12 = 

4 x 8 = 4 x 12 = 7 x 5 = 40÷ 5 = 
8 x 11 = 8 ÷ 8 = 35÷ 5 = 3 x 8 = 

8 x 9 =  12 ÷ 2 = 4 x 7 = 2 x 8 = 

5 x 6 = 6 x 5 = 36 ÷ 6 = 32÷ 8 = 
20 ÷ 4 = 8 x 12 = 48÷ 4 = 33÷ 3 = 
4 x 8 = 2 x 7 = 9 x 4 = 4 x 11 = 

7 x 8 = 16 ÷ 8 = 64÷ 8 = 3 x 6 = 

12 x 11 = 40 ÷ 10 = 110÷ 11 = 4 x 5 = 

15 ÷ 3 = 8 x 3 = 6x 8 = 24÷ 2 = 
0 x 5 = 4 x 3 = 44÷ 4 = 4 x 7 = 

3x 7 = 12 x 8 = 49÷ 7 = 21 ÷ 7 = 

Total__________/100   Certificate ____________ 



 Times Table Challenge 
Year 6 Bronze II 

 

Name_________________   Date______________ 
You have 10 minutes to solve these problems. 

All tables 12 x 12 

60÷ 5 = 8 x 5 = 4 x 12 = 36÷ 3 = 
4 x 9 =  14÷ 2 = 24÷ 8 = 64÷ 8 = 
4 x 5 = 8 x 9 = 45÷ 5 = 60÷ 5 = 
0 x 3 = 4 x 8 = 64÷ 8 = 4 x 7 = 

22 ÷ 11 = 8 x 12 = 42÷ 7 = 35÷ 7 = 
12 x 10 = 4 ÷ 1 = 96÷ 8 = 4 x 5 = 

9 x 5 = 7 x 8 = 4 x 6 = 4 x 12 = 

8 x 12 = 7 x 6 = 3 x 5 = 3 x 12 = 

0 x 5 = 12 x 12 = 8 x 9 = 72÷ 8 = 
3 x 2 = 50÷ 5 = 45÷ 5 = 4 x 11 = 

3÷ 3 = 8 x 0 = 3x 0 = 24÷ 2 = 
6 x 7 = 20 ÷ 5 = 40÷ 5 = 4 x 11 = 

6 x 8 = 3 x 8 = 40÷ 4 = 4 x 7 = 

70÷ 10 = 7 x 11 = 7 x 7 = 3 x 8 = 

12 x 10 = 90÷ 10 = 120÷ 10 = 2 x 5 = 

7 x 9 =  4 x 8  = 9 x 12 = 24  ÷ 8 = 
2 x 8 =  12 ÷ 2 = 4 x 7 = 2 x 8 = 

4 x 5 = 2 x 12 = 6 x 8 = 40÷ 8 = 
15 ÷ 3 = 3 x 3 = 3x 0 = 24÷ 2 = 
4 x 8 = 6 x 9 = 9 x 4 = 8 x 12 = 

18 ÷ 3 = 18 ÷ 2 = 16 ÷ 8 = 12 x 0 = 

5 x 8 = 2 x 5 = 30 ÷ 5 = 56÷ 8 = 
3 x 12 = 8 x 4 = 9 x 4 = 2 x 11 = 

3x 7 = 12 x 8 = 49÷ 7 = 21 ÷ 7 = 

3 x 5 = 12÷ 2 = 36÷ 6 = 4 x 6 = 

Total__________/100   Certificate ____________ 
 


